

Normal sample variance

Monday, May 27, 2024 09:49

$$\text{let } \frac{(n-1)s^2}{\sigma^2} = \frac{\sum (x_i - \bar{x})^2}{\sigma^2} = \sum \left(\frac{x_i - \bar{x}}{\sigma} \right)^2 \sim \chi^2_{(n-1)} ?$$

写成这样非常重要, 更加 intuitive.

证明思路: $x_i \sim N(\mu, \sigma^2)$ $s^2 = \frac{1}{n-1} \sum (x_i - \bar{x})^2$

$x^2 \sim \chi^2(1)$

$\left(\frac{x_i - \mu}{\sigma} \right)^2 \sim \chi^2(1)$

☆ $x_i - \mu$ 可以写为两部分 $\sum \left(\frac{x_i - \bar{x}_n + \bar{x}_n - \mu}{\sigma} \right)^2$

$$\sum \left(\frac{x_i - \mu}{\sigma} \right)^2 = \sum_{i=1}^n \left(\frac{x_i - \bar{x}_n}{\sigma} + \frac{\bar{x}_n - \mu}{\sigma} \right)^2$$

$$= \sum_{i=1}^n \left(\frac{x_i - \bar{x}_n}{\sigma} \right)^2 + n \left(\frac{\bar{x}_n - \mu}{\sigma} \right)^2$$

$$+ 2 \frac{\bar{x}_n - \mu}{\sigma} \cdot \sum_{i=1}^n \frac{x_i - \bar{x}_n}{\sigma} \rightarrow \text{well-know } \sum (x_i - \bar{x}_n) = 0$$

$$= \sum_{i=1}^n \left(\frac{x_i - \bar{x}_n}{\sigma} \right)^2 + n \left(\frac{\bar{x}_n - \mu}{\sigma} \right)^2 \rightarrow \text{R.I.J. U.IV}$$

of interest \leftarrow U \perp V \dots $\sigma^2 \perp \bar{X}$

$$W = U + V, \quad U \perp V \Rightarrow M_W(t) = M_U(t)M_V(t)$$

$$W = \sum_{i=1}^n \left(\frac{X_i - \mu}{\sigma} \right)^2 \text{ 其 } \sim \chi^2(n)$$

$$\frac{X_i - \mu}{\sigma} \sim N(0, 1)$$

$$\left. \begin{array}{l} \frac{X_i - \mu}{\sigma} \sim N(0, 1) \\ \left(\frac{X_i - \mu}{\sigma} \right)^2 \sim \chi^2(1) \end{array} \right\} \Rightarrow \sum \left(\frac{X_i - \mu}{\sigma} \right)^2 \sim \chi^2(n) \quad \underline{W!}$$

$$V = n \left(\frac{\bar{X}_n - \mu}{\sigma} \right)^2, \quad \bar{X}_n \sim N\left(\mu, \frac{\sigma^2}{n}\right) \quad [\text{1 MGF 可证}]$$

$$= \left(\frac{\sqrt{n}(\bar{X} - \mu)}{\sigma} \right)^2 \quad \frac{\sqrt{n}(\bar{X} - \mu)}{\sigma} \sim N(0, 1)$$

$$V = \left(\frac{\sqrt{n}(\bar{X} - \mu)}{\sigma} \right)^2 \sim \chi^2(1) \quad \underline{V!}$$

Gamma MGF: $\left(\frac{1}{1 - \beta t} \right)^\alpha$

$$n! \sim n^2 n! = n \cdot n \cdot \dots \cdot 2 \cdot 1 \sim n^{\frac{1}{2}}$$

$W = (X|Y) \sim \mathcal{L}(\Sigma, 2)$, $V \sim \chi^2(1) = \mathcal{L}(2, 2)$

$$M_U(t) = \frac{M_W(t)}{M_V(t)} = \frac{\left(\frac{1}{1-2t}\right)^{\frac{n}{2}}}{\left(\frac{1}{1-2t}\right)^{\frac{1}{2}}} = \left(\frac{1}{1-2t}\right)^{\frac{n-1}{2}}$$

\Rightarrow we recognize that $U \sim \text{Gamma}\left(\frac{n-1}{2}, 2\right)$

$$= \chi^2(n-1) \quad \square$$